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[ 7F8zoteAt A ]

B:(600) ARl BH(610) FASO MBH(611) ALBRAO S:(02) IHYEHSCAIER (Er9) - 2el)
a = quey | ZEG| 32
H-8-M38-2 Off <k o °
2 A 33,452,382 | 42,624,818 | 19,172,436
600 At 14,501,334 14,460,289 41,045
610 e+ 5,710,900 5,710,900 0
611 AtE=E49 5,548,900 5,548,900 0
02 7t¥Este=AE=E 1,608,018 1,608,018 0
o otrEAtEESY 10,860% x 12,3394 x 127§ = 1,608,018
06 QEIESITZAIER 3,630,954 3,630,954 0
o otrEAtEESY 106,730% x 2,835 x 1270’ = 3,630,954
08 USYESIT-EZAIR=E 140,203 140,203 0
o olrEAEESY 1,298,180 x 94 x 1271¥ = 140,203
10 AMRALSAEST-ZAIER 56,316 56,316 0
o olrEAtEESY 234,650 x 204 x 1270€ = 56,316
12 7|EtsteEAIER= 113,409 113,409 0
o olr-EAIEESY 350,030% x 274 x 12704€ = 113,409
661 7|Etgds+ 162,000 162,000 0
03 JlEtrrEarY 162,000 162,000 0
0 22| H He|aa 13,500,000 x 12€¥ = 162,000
670 Il 8,790,434 8,749,389 41,045
671 O|Zp< 70,000 50,000 20,000
01 OZ0|Ate¢ 70,000 50,000 20,000
0 0=0|2t & ¢ 70,000,000 = 70,000
672 ElS|AMUZ T 8,706,814 8,691,981 14,833
02 EEYEIAMYUZ 5,431,600 5,901,459 A469,859
O AWM EH| A Y2 5,431,600
0 SHE7| =AY 2EH| 5,431,600,000 = 5,431,600
03 E|ARZ 3,275,214 2,790,522 484,692
O LBS| A dUZ 3,275,214
0 3&StEAE AL 7|23 99,000,000 = 99,000
o BHEVIZAIE 2| RIZtRIEF 2,703,047,000= 2,703,047
o St ottt A ZA| AR HIEREZ 329,087,000 = 329,087
o olpZ V| RIC 144,080,000 = 144,080
679 7|EtF Y|4 13,620 7,408 6,212
01 7IEfUdis¢ 1,800 1,800 0
0 SR AR =E 1,800,000 = 1,800
04 HaaLetIr 1,820 608 1,212
o HAZ ¢ 1,820,000 = 1,820
09 7IEtFdYelsY 10,000 5,000 5,000
o 7|et &¢ 10,000,000 = 10,000
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2:(100) A=A+ e(170) A2YossY M (171) A28

CalE
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n 2
—— aee | §ig | B2
100 AH2H4-Q) 18,951,048 | 28,164,529 | 29,213,481
170 A2z 17,953,358 | 28,163,529 210,210,171
171 AHEEE3+Y 1,000,000 630,000 370,000
01 Ald2ga=d 1,000,000 630,000 370,000
0 &5tk AAREEHZ 1,000,000,000 = 1,000,000
173 ElRAAHEERZ Y 16,953,358 | 27,533,529 | 210,580,171
01 =iEzRz4+Y 9,843,000 | 15,729,000 [ A5,886,000
O 21BRIHY 9,843,000
0 (80| DISdteE HH) 2 Aot 2|Ald 2|ArY
44,000,000 = 44,000
o (St &3)dl2| 3ot Ald SHARE (1A
275,000,000= 275,000
o (G2 &SE )R 223 3otrHe Al SHAE (1A
71,000,000 = 71,000
o (GI22ld &5)¥E 335teelAld SHAIE (22
844,000,000 = 844,000
o (St &3) At 35t Ald SHAIE (1)
495,000,000 = 495,000
0 (501& DIS3teE GH) a4 223 3oteH2|Ald dAAIY
1,035,000,000 = 1,035,000
o (StrT2FH))EH, Hot 242 FB|AY 289,000,000 = 289,000
o (G2 YH|) 7N =25t FH|AY 111,000,000= 111,000
o (T2 YH) Y HH =S5t FH|AY 250,000,000 = 250,000
o (o2 HH|)HE, 2 ot 2 FH|AIY 2,905,000,000 = 2,905,000
o (2 FH|) 32| A7 St 2 FBIANY 2,287,000,000 = 2,287,000
0 (U2 )2 St4HTE HH|AFY (2CHA) 492,000,000= 492,000
o (GH-R2HH) S dUH 4H oottt 2 HB|AIY
117,000,000 = 117,000
o (SH-22HH|)71ES ot 2 FHIAY 328,000,000 = 328,000
o (T2 HH|) 29, &t St 2 FB|AY 300,000,000 = 300,000
02 ERAHEEzRaZY 6,585,100 | 10,342,757 | 23,757,657
O stdAZe7 |3 (2/NHEEA) dea 4,014,300
0 (8012 O}S2otr = HH) B2 At 2ote2{2|Ald 2|ArY
18,000,000 = 18,000
o (SteH2|d &3)de| 3steA2|Ald SHAIE (1)
324,000,000 = 324,000
o (ot S3)e 2123 FsteA2|Ad SHAE (12
54,000,000 = 54,000
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a = quey | ZEG| 32
o8N =2 of &
o (Bt &2)HH 335t 2AlY SHEAY (23)
144,000,000 = 144,000
o (otrA2| &3)H et 33cteH2Ald SHEAL (1))
108,000,000 = 108,000
0 (50120185t P E4-AT2 335X AE HIAMY
590,000,000 = 590,000
o (ot-RZFH)SH Ao 2222 FH|AY 922,000,000= 922,000
o (St 2YH|) 7P =S5t FH|AY 213,000,000= 213,000
o (Gt-RZ2ZH))YY, HY ot 2 FH|AY 360,000,000= 360,000
o (ctrEZZH|)FHe| AR otr2E FH|ALY 288,000,000= 288,000
o (ot ZZH|) S S LZ HH[AIY (2EA) 27,000,000 = 27,000
o (otrRZFH)SH HAMH M S5t FHAIY
15,000,000 = 15,000
o (Bt ZZH|)7HES st ZHIALY 18,000,000 = 18,000
o BHE7|ZAIH tii 933,300,000= 933,300
O YBHS| A MU= 2,570,800
o (ot-A2| &3)de|3Sotea2AdSHA4(12) 108,000,000 = 108,000
o (BtEHE|Y &E)MFE St A DS HAA(12)) 18,000,000 = 18,000
o (BtrHE|Y &E) Y3 Sstee| A DS HAA (231 48,000,000 = 48,000
o (ot &&) -t Bt A DS HAA(12)) 36,000,000 = 36,000
o (otrA2| &E) MM ZSstpHe|Ald 22 SHAY 500,000,000 = 500,000
o (et &F)SPA DI St 2| A4S EAIE (1)
200,000,000= 200,000
0 (50120125t Pt a4 A2 33 dtp2Ald SR ALY
408,000,000= 408,000
o (SR YH))EH, Hot A2 HBIAY 300,000,000 = 300,000
o (Gt-RZZH))IHEE &5t HE ZHIAIY 218,600,000= 218,600
o (Bt-RZZH))YY A ofr22 FH|AY 240,000,000 = 240,000
o (otrEZFH|)H2| AR ot 2 FH|ALY 192,000,000= 192,000
o (GHRZYH|) ST stttz ZHIAIY (2THA) 18,000,000 = 18,000
o (trHZYH))SH oM 4 =Stz YHIAIY
10,000,000 = 10,000
o (ot-RZFH|)7HES st ZHIANY 12,000,000 = 12,000
o BHE7|ZAH o 262,200,000= 262,200
03 Al=HEzZFSY 525,258 | 1,461,772| £936,514
O AlzHEZZ4+Y 525,258
0 (50|12 OtSotrt FH)ERH A2 335t 2| AlE ALY
7,543,000 = 7,543
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2H(100) AH2EAQ 3:(170) A2YOIAY  HB:(173) ERIANMBZI49 2:(03) ASH 22349 oo
= = quae | SHe| B2
-8 MY = of A of
o (BtA2|Y &3)H2| SSoteAelAld SEAL (1)
47,143,000 = 47,143
o (Bt22|y &3)thr APR2ESotr22|AlE SEAIZ (12
12,171,000 = 12,171
o (Bt &2) Y SSoteAelAld SEAYE ()
144,686,000 = 144,686
o (Bt22|Y &3) et SSotrA2AlE SEAE (1)
84,857,000 = 84,857
0 (SOE0Est-EYH) SRS S0t 2| AlE (ALY
177,429,000 = 177,429
o (Gt-RZYH)) 2% T St = YH|ALY 51,429,000 = 51,429
180 REAZ 997,690 1,000 996,690
181 &=MAYHZ 997,690 1,000 996,690
01 T=MAYAF 997,690 1,000 996,690
O &MAYAZ 997,690,000 = 997,690




